2L EE SYM-IB-EXT

Installation Guide

x1

5/32” or M4 Allen Key Extrusion Nut Bar

Extrusion Nut

Bar
Center
End Cap /Interface Bar
' M5 x 10 mm Socket
J Cap Screws
S
i 0

Remove the M5 x10 mm Socket Cap Screws and End Insert the Extrusion Nut Bars into the Interface Bar.
Caps using a 5/32” or M4 Allen Key. The center of the Extrusion Nut Bar meets the edge of

the Interface bar.

Tighten the M8 x 10mm set screws on the Extrusion Nut

Bar using a 5/32” or M4 Allen Key.
g y Insert the Interface Bar and tighten the M8 x 10mm set

screws on the Extrusion Nut Bar.

www.mounts.com | North America 800.368.9700 | International +1-714-632-7100
1321 S. State College Blvd., Fullerton, CA 92831 USA



SYM-IB-EXT

Installation Guide

Proper and Improper use of Extrustion nut bar

oK
NOT OK ” ‘ “
[ 1
L H T H 1}
“ j ﬁ
=)
H H oK
NOT OK “ | | n
u = : ! = ”
ii 1 ii
“ | | ol
NOT OK

Max Load Per Display

175 Ibs 1751bs =350 lbs
| ] |
¢ = ‘ = u
116 lbs 116 lbs 116 lbs =350 Ibs
[ ‘ ]
Ll Ll
88 Ibs 88 Ibs 88 Ibs 88lbs =3501bs

4PREMIER
’AMOUNTS

www.mounts.com | North America 800.368.9700 | International +1-714-632-7100 9531-000-052-0X Rev.0
1321 S. State College Blvd., Fullerton, CA 92831 USA




